AP Calculus AB Name: 0 S _\{e%:i:

Unit 6 — Day 4 — Assignment

6 6
Given jz f(x)dx=10and jz g(x)dx = -2, find the values of each of the following definite

integrals, if possible, by rewriting the given integral using the propeﬁies of integrals.
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wven X -~ an g X ind the values of each of the following definite
Gi f()dx and [ (x)dx =4, find the values of cach of the foll defi

mtegrals Rewrlte the given 1ntegral using the properties of 1ntegrals Then, find the value.
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Pictured below is the graph @ the first derivative of a function f{x). Use the graph to

answer the following questions 8 =10,

Graph of f'(x)
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7. What is the value of jo [ (x)dx
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8. IfAD) ='—3, what is the value of f(3)?
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9. If f3) = -1, what is the value of {7)?
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The graph of f'(x), the derivative of a function, f{x), is pictured below on the interval -2, 6].
Write and find the value of a definite integral to find each of the indicated values of Ax) below.

Also, -2)=5.

10. Find the value of A0).
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11. Find the value of 6).
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3. The graph of the velocity o(t), in ft/sec, of a car traveling on a straight road, for 0 < ¢ <0 50, is shown.above, A
table of values tor w(f), at 5 second intervals of time ¢, is shown 10 the right of the graph.

{a) During what intervals of time is the acceleration of the car positive? Give a reason fov yowr answer,

{b) Find the average acceleration of the car, in fi/sec?, over the fnterval 1) < £ < 50.

(¢) Find one approximation for the acceloration of the enr, in ft/sec?, sh;“n,r.: the compirtations you

nsed Lo arrive at YORL answeT.

Nt ' :
{d) Approximale / v{t) dt with a Riemann sum, nsing L'-h-,f fve subintervals of equal length.
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Using correct units, explain the meaning of this integral,
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(b} Iy there some time #, 0 < # < 24, such that B(#} = 07 Justify 105
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